Question 1

fla) = a7

Which of the following functions has the same graph as f,
but shifted down two units?

A g(z) = (v — 2)° D g(z) = 2% — 2
B.  g(z)=(z+2)° E.  gla)=(z—-2)"+2
C g(z) = 2% +2 F g(z) = (x —2)? =2

Stewart Section 1.3 = n. 1/1



Question 1

fla) = a7

Which of the following functions has the same graph as f,
but shifted down two units?

A g(z) = (x — 2)? D. g(z) =2 -2
B. g(x)=(r+2)° E.  g(z)=(v—2)°+2
C g(z) = 2% +2 F. g(z) = (x —2)? =2

Stewart Section 1.3 = n. 1/1



Question 1

The graph of
y=flz)—=2

matches the graph of f(x) but is shifted down two units.

on 1.3 =np. 2/1



Question 2

fla) = a7

Which of the following functions has the same graph as f,
but shifted two units to the left?

Stewart Section 1.3 = n. 3/]



Question 2

fla) = a7

Which of the following functions has the same graph as f,
but shifted two units to the left?

A g(z) = (x — 2)? D. g(z) =2 -2
B. g(x)=(r+2)° E.  g(z)=(v—2)°+2
C g(z) = 2% +2 F. g(z) = (x —2)? =2

Stewart Section 1.3 = p. 3/]



Question 2

The graph of
y=f(z+2)
matches the graph of f(x) but is shifted two units to the left.




Question 3

fla) = a7

Which of the following functions has the graph of f, but
shifted two units to the right and two down?

A g(z) = (v — 2)° D. g(z) = 2% -2
B go)=(+2?  E  gla)=(r— 2+
C g(z) = 2% 4 2 F. g(z) = (x —2)* =2

ewart Section 1.3 = p. 5/1



Question 3

fla) = a7

Which of the following functions has the graph of f, but
shifted two units to the right and two down?

A g(z) = (v — 2)° D. g(z) = 2% -2
B go)=(+2?  E  gla)=(r— 2+
C g(z) = 2% 4 2 F. g(z) = (x —2)* =2

ewart Section 1.3 = p. 5/1



Question 3

The graph of
y = flzr—2)

matches the graph of f(x) but is shifted two units to the
right.

on 1.3 =p. 6/]



Question 3

The graph of
y = flzr—2)

matches the graph of f(x) but is shifted two units to the
right.

The graph of
y=flz—2)-2

matches the graph of f(x) but is shifted two units to the
right and two down.

Stewart Section 1.3 — p. 6/]



Question 4

fla) = a7

Which of the following functions has the graph of f, but
shifted two units up?

ewart Section 1.3 = p. 7/



Question 4

fla) = a7

Which of the following functions has the graph of f, but
shifted two units up?

A g(z) = (v — 2)° D. g(z) = 2% — 2
B.  g(x)=(r+2)° E.  g(z)=(v—2)"+2
C g(x) = 2% 4 2 F. g(z) = (x —2)* =2

ewart Section 1.3 = p. 7/



Question 4

The graph of
y=f(z)+2
matches the graph of f(x) but is shifted two units up.

tewart Section 1

—n. 8/1



Question 5

fla) = a7

Which of the following functions has the graph of f, but
shifted two units to the right?

A g(z) = (v — 2)° D. g(z) = 2% -2
B go)=(+2?  E  gla)=(r— 2+
C g(z) = 2% 4 2 F. g(z) = (x —2)* =2

ewart Section 1.3 = p. 9/1



Question 5

fla) = a7

Which of the following functions has the graph of f, but
shifted two units to the right?

A g(z) = (v — 2)° D. g(z) = 2% -2
B go)=(+2?  E  gla)=(r— 2+
C g(z) = 2% 4 2 F. g(z) = (x —2)* =2

ewart Section 1.3 — p. 9/1



Question 5

The graph of
y = flzr—2)

matches the graph of f(x) but is shifted two units to the
right.

on 1.3 =p. 10/1



Question 6

f(x) =2° 4 32 — 2

Which of the following functions has the graph of f reflected
across the r-axis?

A. g(z) = —2* — 32 +2 D.
B. g(z) = 2% — 32 — 2 E. g(r) = —2% — 3z
C. glx)=(x—-1?+3(x—-1)-2 F

Stewart Section 1.3 = p. 11/7



Question 6

f(x) =2° 4 32 — 2

Which of the following functions has the graph of f reflected
across the r-axis?

A. g(z) = —2* — 32 +2 D.
B. g(z) = 2% — 32 — 2 E. g(r) = —2% — 3z
C. glx)=(x—-1?+3(x—-1)-2 F
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Question 6

The graph of

matches the graph of f(z

y
) bu

—f(z)

ut is reflected across the z-axis.
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Question 7

f(x) =2° 4 32 — 2

Which of the following functions has the graph of f reflected
across the y-axis?

A. g(z) = —2° — 3z + 2 D. g(x) = 2° + 3z — 4
B. g(z) = 2% — 32 — 2 E. g(z) = —a% — 3x
C. glz)=(x—1)?+3(x-1)—-2 F g(z) = 2% — 32 + 2

Stewart Section 1.3 = p. 13/



Question 7

f(x) =2° 4 32 — 2

Which of the following functions has the graph of f reflected
across the y-axis?

A. g(z) = —2° — 3z + 2 D. g(x) = 2° + 3z — 4
B. g(z) = 2% — 32 — 2 E. g(z) = —a% — 3x
C. glz)=(x—1)?+3(x-1)—-2 F g(z) = 2% — 32 + 2

Stewart Section 1.3 = p. 13/7



Question 7

The graph of
y = [f(—x)

matches the graph of f(x) but is reflected across the y-axis.




Question 8

f(x) =2° 4 32 — 2

Which of the following functions has the graph of f reflected
across the z-axis and shifted down 2 units?

A. g(z) = —2° — 3z + 2 D.
B. g(z) = 2° — 32 — 2 E. g(z) = —2? — 32
C. glx)=(x—-1?+3(x—-1)-2 F

Stewart Section 1.3 = p. 15/1



Question 8

f(x) =2° 4 32 — 2

Which of the following functions has the graph of f reflected
across the z-axis and shifted down 2 units?

A. g(z) = —2° — 3z + 2 D.
B. g(z) = 2° — 32 — 2 E. g(z) = —2° — 3z
C. glx)=(x—-1?+3(x—-1)-2 F

Stewart Section 1.3 = p. 15/1



Question 8

The graph of

matches the graph of f(z

y
) bu

—f(z)

ut is reflected across the z-axis.
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Question 8

The graph of

y =—f(z)
matches the graph of f(x) but is reflected across the z-axis.
The graph of
y=—f(z) -

matches the graph of f(x) but reflected across the z-axis
and shifted two units down.

on 1.3 =p. 16/1
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